il

g
=
s
i

1. ¥¥4

B4 KFVEPE R B Im2etE (PD6) /K SCHHA RS
JBA T (H) ZsE IR AEHT e
(F) Z=EIFAEFE )BT

2. EBEAR
1) FHI4 HEEEFGHTT  THR
326 HIH H &f1 74 1H28H

2) JE1THIR
£ o THF12H19H

3) &FEtHM
AFEBIT, ER TR X DM LI ERR ZE AR T 228N 2 b 2007 - T

FEIZOWTHRRENEFOMREZITI bDOTH D,

4) FEHBNA
HF - HUFERHA  ERMUEER 1K
fRpTSEA WS EEK 1K

E sz TR R



i
I
St
%lljll
I

EHA | KFEPTER S ELZUE (PD6) ASURAZES E B FRA
H H —fxFRAE
THH - T - R A7 ¥ & & KA OB ORR
— A EY 1 18,042, 877
EHETRAL 2y 1 17, 664, 850
HA - i FERE 2y 1 15,973,450 | HF - =& A 1
5, 000 (5B
HF - HFERAEA 2
55 (5B
HA A 2y 1 1,313,400 | FHFHAEDB
15 (5B
HFHRAEB
70 T
HFHREB
15 T
H =R Y 1 186, 000 | H =4 B
5 &
H T =EFRAB
5 (&0
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 192, 000 %%Eﬁ%&ﬁzﬁk%
1 =
R A = 1 378, 027
TR e = 1 378,027 | fick (FF k- 1510
1 =
EERA A+ MR = 1 18, 042, 877
R = 1 11,437,123
AT = 1 11,437, 123
— R = 1 29, 480, 000

-1- E sz TR R



i

i
T

%lljll
I

¥ERs4 | RKAIEPHER S FRELUE (PD6) KGRAEXER E A
H H TSR A
THH - T - fER] A7 % & KA OB ORR
AT A = 581, 580
(R 2 =X 581, 580
RN A = 581,580 | HEEERK
1 =X
EiS T 52V 361, 880
EiST] 52V 361, 880
e = 233,800 | ¥Iat
1 =
B R AR ERR = 128,080 | ABARLRSLIERL
1 e
B (ZOtsmER <) = 943, 460
Z DA = 508, 053
— R A = 778, 487
NS S = 2,230, 000
FRATSES R = 31, 710, 000
-2 - E 2wy IR



